NOTES:
A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC
CONTROL SYSTEMS OR MODULES.

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE PRIMARY CLUTCH.
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PULL TO ENGAGE SECONDARY CLUTCH.

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH EYEBOLTS FOR LIFTING MARINE
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL TRANSMISSION ONLY (2 EYEBOLTS,
CONTROL VALVE IS IN THE CENTERED POSITION AND 8“EBgArﬁHE\SKEDBEG)LE(SQ%A(\)LII_ZIETLOAD
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION. MARINE TRANSMISSION.

2. CURRENT =20 AMP MAX.
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

T —J
1 | INPUT GROUP REFERENCE PLANE { 1 _D\
? | PTO ADAPTER MOUNTING FACE ) - N ™\ i
\\
O o O
3 | LEFT MOUNTING BRACKET FACE 7
4 | RIGHT MOUNTING BRACKET FACE —=h e —
®) 1000976
OIL OUT TO HEAT EXCHANGER
M33x2.0 THD. METRIC PORT &
CONFORMS TO 1SO 6149 :
REMOVE THREAD PROTECTOR O O O O ® 3
BEFORE OPERATING UNIT. . - ~_ REATHER
\
L“ ‘l\/ ) /
1 7
—7 1 7T i
T [NLLF L F—11J 7T T
=0 o
f ©) [T
tH @ © 2 O
PRIMARY CLUTCH (FIRST) = - Y
PRESSURE PORT jr—— - -
M12x1.5 METRIC PORT [° ° @ v See
CONFORMS TO ISO 6149 ls—o  |[F—
TIGHTENING TORQUE 16+1.5 Nm =
INPUT SPEED SENSOR PORT
5/8-18UNF-2B TH'D. S
TARGET WHEEL : 54 TEETH
[ 1
|
TEMPERATURE PORT
AFTER HEAT EXCHANGER
M14x1.5 METRIC PORT ——={ 10370 |=—r
TEMPERATURE PORT CONFORMS TO 1SO 6149
— BEFORE HEAT EXCHANGER -~ TIGHTENING TORQUE 20+2 Nm
1 M14x1.5 METRIC PORT SEENOTE "B = [ 127
CONFORMS TO 150 6149
TIGHTENING TORQUE 20+2 Nm
. MAIN PRESSURE PORT OIL GAUGE | 40
M12x1.5 METRIC PORT
CONFORMS TO IS0 6149
NNECT OIL PRESSURE
— DR IR Y HUTCH GAUGE LINE HERE. I P
! - SEE NOTE "A" TIGHTENING TORQUE 16+1.5 Nm S NOTE ]
_ , | i | ‘
| ©@L — T
: O : § N ¥ EV
g O ‘
| faal jmal m ° 10 g g 0 T = — ‘
! =N i — INPUT SHAFT G & PRIMARY CLUTCH (SECOND) ] J
= - = ) PRESSURE PORT =
% ‘ ] SECONDARY CLUTCH NORA N DISC® M12x1.5 METRIC PORT
' 1023384 CONFORMS TO ISO 6149
| H ° SEE NOTE "A” A TIGHTENING TORQUE 16+1.5 Nm |
i g | I
LS < SECONDARY CLUTCH (FIRST) - L] N o
_ _ _ _ T B . PRESSURE PORT | ~ - S
| = M12x1.5 METRIC PORT © o 11 | 5 8
’ i . CONFORMS TO ISO 6149 | i e
i = | ' \TIGHTENING TORQUE 16+1.5 Nm = H. ENGINE ROTATION = E
| } OIL FILTER DRAIN __ _ l " DRIVEN THROUGH PRIMARY OUTPUT SPEED—_ | E[| — |
ml : x1. SENSOR BRACKET
o = - CONFORMS TO ISO 6149 TARGET WHEEL : 64 TEETH =
% ] ﬁ TIGHTENING TORQUE 54 +5 Nm 0 O : ;
o 1 N O @
4 N
i | SECONDARY CLUTCH (SECOND) O = GREASE FITTING f |
|/ i - PRESSURE PORT S r g
= N _ M12x1.5 METRIC PORT \ S ; - |
NFORMS TO ISO 6149 q
| Wa | n . A | A
X b \:}- - - \:}- - —(;l}— 5 TIGHTENING TORQUE 16 + 1.5 Nm & l @/6%\ j- = b &<;)— - —(ﬁy‘ - - —(-{Z} Eg 1N '
4 ﬂ; Y = ~ ] ' S X ;D S
° [ | P / @/ i | = ]
3 | | j = \ OIL STRAINER ( / o - E ' | | SAE #1
J ¢ | _ LUBE PRESSURE PORT @ ! g 2 = PER SAE J617
/] i = x1.5 : 1l = I
> 7Y o—- o0 ol iz CONFORMS TO ISO 6149 | | . Ls q§ &9 il Wi
N 2 | IE TIGHTENING TORQUE 34 +3 Nm S NE =il
= = =
| | ] = OIL IN FROM HEAT EXCHANGER/ \ S | E
0 HE M33x2.0 THD. METRIC PORT | . \ Y [l
= CONFORMS TO ISO 6149 o -
=g ji= REMOVE THREAD PROTECTOR - > 12X G245 HRY =il =
P p = BEFORE OPERATING UNIT. | =
— s a——Z B
\i\\< i T~ (292.10B.C. !
> 10.4 —|
|
N
OUTPUT SHAFT § — 6.2 —o |
M20x2.5-6H TAP, 32.0 DEEP
18 HOLES (9 EACH SIDE) 254 — m| |-
USE ALL EIGHTEEN (18) HOLES
FOR MOUNTING UNIT. D,
USE 8.8 PROPERY CLASS QUALITY 3 —= -— 4
CAPSCREWS PER ISO 89-1 AND
TORQUE TO S574 OR SERVICE {
MANUAL VALUES. by A\ i Y
15080 ~—
——— 177.80 ——== 2352 | 2352 — = — 933.30 ™
- 27940 ——— =
|t 406.40 ! 406.40 —
— 658.8 -
OIL DRAIN
CONFORMIS TO 150 6149 EQUIPMENT SHOWN:
TIGHTENING TORQUE 888 Nm - GP VALVE WITH EC050 MODULE
A [ECNWF-21323] 07/14/2010
REV CHANGE NO. DATE
FIRST USE ASSEMBLY: _ MATERIAL: DATE:
FIRST USE MODEL: \::HT ki @D G THIRD ANGLE 3002{8:9/2009
SIMLAR T ' il FEAT TREAT: 1:4 RACINE, WI 53403 - USA
METRIC R A SR
X. +0.75
SIS LS A R NSO K08 PESCRIPTION s 1025941A
"SE2IWIN DISC, INCORPORATED A OMETRIC TOLERANCING INSTALLATION APPROVED BY. [DWG SHEET REV:
GRANTED TG THE U5, GOVERNVENT OK OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-5222DC & MGX-5225DC ALC  SZE AO 10F1] A

J I H G F E D C | B | A




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View6


